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According to the behaviourist school of psychology, the teacher is
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(A)  aclassroom facilitator

(Bl storehouse of knowledge

(C)  aleader in the classroom

(D)  creator of favourable learning conditions
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A child who uses a wheel chair

(A)  should not be in the regular school
(B)  should be given education in a regular school in a lower class
(C)  should study only in a special school
(D)  none of these
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- psychology's major contribution to education lies in

(N to cater to the needs of knowledge society
(B) to preserve the social customs

identifying successful methods for teaching

4.

(©)
:D) providing scientific foundation for the art of teaching

g gferg frwes fog wiem € 2 |

) - R IRIE (B)  hIETTR STTHYH 4
(€] S o) e faen - 2%
Ivan lllich is popular for \i
(A)  De-schooling Society (B) Ex-Post facto research J
(C)  Field Experiment (D)  Distance Education - | {("‘
Wm%w‘iﬁﬁ%ﬁ@ﬂﬁﬁmmﬁﬁm?ﬁam l’%\x

s’ € 2 .
oA | (B)  ¥RETErEn I

(A) |
(o) TN (D) + T | I T {/
In the context of social development which of the following stages is \
characterized by 'Intense Self Awareness' ? '
(A)  Childhood (B) Infancy
(C)  Adolescence (D)  None of these
6. 'vflﬂﬁ{t{ﬂﬁ‘;l‘ﬂﬁ & T e W o W& H GE B
19 23 26 30, 33, ?
(A) 31 B) 35
AQ) 37 D) 39
In the following question, select the missing number from the given series :
19, 23,26, 30, 33, ? |
(A) 31 B) 35
© 3 | D) 39
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If two days before yesterday was Friday, what day will be day after tomdrruw ?

(A) Monday . (B) Sunday

(C) Saturday (D) Wednesday

Eﬁa’lﬁﬁ H'Wﬁf?ﬂﬁﬁ%ﬁmwﬁm%nmmﬁwﬁzﬁﬁﬁm
E,W%W%aﬂtzfﬁﬁam%,mmﬁqwm%aﬁ?w%lﬁm
F-at e F T @ E 2 |

a) R B) aRo-g
€ S| (D) T
A man ‘A’ starts from a certain point and walks o km towards north, turns

towards his right and walks 2 km, turns right again and walks. What is the

dircction is he facing now ?
(B) South-east

(A)  South
(C) North , (D) West
i el & o o ST T S T 2
876543217654321654321

AA) S B) 6
c) 4 o) T W HE A

What should come next in the following number series ?

8765432 17654321654321
B) 6

(D)  None of these
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jo.  Fmfafee saen o A T GE B I Y
5|8 32—]
916 z';g.
71917
(a) 54 (B) 45
g & - (D) 53
Find the missing number from the given series :
8132
6 |48
91| ?
A 54 (B) 45 {
(@) 49 - (D) 53
R M- - 4 R R ST ¥, = F o T A § SR W

'+ &l W%.ﬁﬁq_ﬂtﬁw

54+ 16-3x642=7

& OF &

A) 12 B) 8

C 15 D) 9

If .'x' stands for '+, — for '=', ' for 'x' and '+ for '+', then the.value of the

following equation

54 + 16-3x6+2=7

is
(A) 12 (B) 8
< 15 . D) 9
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17 I ' % /5)
/ qﬁ' A =1, BAR =21 aﬁr STAR = 58, @l ABROAD
(a) 32 | | (B,. 41
© s | : o) 42

; ' =7
. IfA=1,BAR = 21 and STAR = 58, then. ABROAD

L w32 | B 4
(C) 33 ‘ (D) 42 y
VNC' f@l STl ® 3G %

13. A% et w2 W § ‘BrREAKDOWN' FI ‘BESCY
f ?
91T H 'ORGANISED' &1 fh wepRR foral siem

(A) PSHBMCDRH - (B)

(C)  BHSPOCDRE (D) .
' : . 'BFSCJMVN . How i
In a certain code 'BREAKDOWN' is written as

'ORGANISED' written in that code ?

SPMCDRH
(A)  PSHBMCDRH ) BH

(C) BHSPOCDRH (D)  None of these

. ' ‘ T H
14 Aaﬁ?BméﬁiQAWW%IQ,CWW%I{E,BW?T%H’IDWE
G E ? |
(o) T () TR
(D)  SIaT
(o) T

A .nd B are brothers. C is father of A. D is father of C. E is son of B. How E
a | i

D related to E?

(A)  Grandson (B)  Great grandson

(C) Great -grandfather | (D)  Grandfather

| =
Rl
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' Jeet the minsing letter from the given series @
In the lollowing, select the minging letter from the ¢

A Q
© R
16, 9 TRIFER et g1 1fFerel w2
() TRITERT (B) @A A A

(o) i (D)
The ultimate goal of education in Jainism is

(A) Charity (B) Pity and renunciation |

(C)  Liberation (D)  Non-violence

17, e e T Fepafererer ferd A T e f e 2
(A) 1966 (B) 1985
(C) 1986 _ (D) 1982
First Open University in India was established in the year
(A) 1966 (B) 1985

g w(©) 1986 B 1982

T
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(©) re e S e, M i
(1) ushler ligers arqeiver ae sfemion aRe (uereliaredD
Continuous and Comprehennive valuation in school ecducation Was started by
. (A)  1GNOU (13 ~ CBSE
4 (€) MHRD, Govt. of Indin (D)  NCERT
N 10, o ann sileniy st sy o @ ey faan A ?
3 (A) 131, 2010 C )18, 2019
(€)1 311, 2000 (D) | 3197, 2008
RTE Act was implemented in India with cffect from
(A)  Ist April, 2010 (B)  1st April, 2019
(C)  Ist April, 2009 (D) Ist April, 2008
20, I & e W i) sl gry Fawiier @) o0d Aifa @
(A) e ST A B) g gz
(D) WIS SR TSTHTST i qA:SATEAT

The policy recommended by the Kothari Commission relating language is

(A) Standard language formula

(B) Two-language formula

(C)  Three-language formula

(D)  Re-interpretation of national language ¢

[ 98062 ] Set-F
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il ferl 2 W1 & 'COMPUTER' ®t 'LNBVQsFU' ferar ST & 1 weit a2 e
'BULKHEAD' %! {8 W& ferar s
- (A)  MVCILEBF | _ (B) KTAILEBF
In a ccrtam code 'COMPUTER' is Wntten as LNBVQSFU' How is BULKHEAD‘

wntten in that code ?

(A) MVCILEBF (B) KTAILEBF
(C) MTAGJEBF (D) None of these
g, AN x T + %Wﬁmw%aﬁz T SRR — ﬂama’fﬁm%lf@ﬁnﬁm
&1 g A S
29 23 & 2] % D=2
(A) 46 (B) 36
C) 62 S (D) 89

- lfx.stands for + and + for —, find the value of the following equation :

3023 +21%5=7

(A) 46 (B) 36°
C 62 D) 89
23, % 2 =26, NET = 39, &l NUT =?
) 50 (B) 53
© 55 - | (D) 56
IfZ =26, NET = 39, then NUT =?
W s - (B) 53
(© 55 - D) s6 |
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24 A D B g, o T B a0 'ﬂi’f}r ¥l A ¢ A g
(A) Yy ' (g e
(€ iy APy
Als brother of D, D jy futher of B, 13 and C are sisters, How ml/l related 4o ¢4
(A) | Son | | | (13)  KFather
(€)  Grandson () Uncle
25, He feu mu feremed] o ) i I ) e

Wi gy

(A) B¢ (B) M5l
(© faw | D)

Find the related word from the given alternatives :
Lion : Den ; : Rabbit : ?
(A)  Hole - (B)  Pit
(C)  Burrow (D)  Trench

26. ToRIer™ & wyIeIveE @l gfre §
(A)  Forerer % foera 1 gere g
(B)  HEl STEATY 1 WefVl X1 3R A I@vaa 3T ol GaR & o 2
()  Toreqor-arfimmer anmdt feremfaer seem

D) FEHI

A School Headmaster has the responsibility to

(A) help the school in its development
(B)  observe the classroom teaching and suggest improvements if required'f§
(C) develop the teaching-learning material - |

(D) all of these

----------- YT ARG LA LLL LR L EEL LT AL LR Ly T L T T CE T T T T I T T T T
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Under Constructivist Approach to language learning, learners are encouraged to

(A) discover the rules of grammar from the examples
(B)  avoid errors completely
(C) lcarn the grammar rules by rote

(D)  write creatively :

WW%mﬁﬁaﬁqmwaﬁﬁz ?
A) ﬁzmqﬁfmwﬁaﬁﬁﬁmm‘%

B T oreror F et s @ ygar W @ fuE ae e @

(C) ST & 3 SR 9o & sy o 3 B €
(D) T EREA F 3 fell @ S7e- e WeTds i ¢

- Which statement is not correct in the context of language teaching ? .

(A) Print riched environment helps in acquiring language

»(B) In language teaching, there is more emphasis on correctness of spelling

(G - There is a difference between language acquisition and language learning

(D)  Teaching of other subjects is helpful in language learning

9. e e denet A waw & U IEiRert & = v emifea e s m A
FEAF T Rieror Feifend A 9 e sew ¥ 2 :
(&) IS qLteoT B) EEF e
(€)  3ATHghy wiegr (D)~ ATHEFH Tieqor

9?052'_];;;:; ...................................... e T14(I) ................ 3 . 11[ -t
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Teacher Eligibility Test conducted for selection of candidates for admission il'lt:

leacher education institution is an example of "
|

(A)  Achievement test (B) Placement test
]
(C)  Attitude test (D)  Aptitude test !

30. oo F werdt @m wecaqel R FE-AE 2
(A) aia‘rﬁqm‘rqﬂm AB) BTl I Sred A
(€ g % w F fwor ) TR i & e
Which is the l;:ast important factor in teaching ? -

(A)  Giving homework to children (B)  Punishing the students

(C) Teaching as a facilitator (D). Lecturing in impressive way

31. _ﬁma&h%mm@m@ﬁmﬁzﬁqﬁﬁ%?

(A) @RI - B) “H

N

(© g | (D) . 9EA

-

Which of the following philosophies claimed that Vasna and Trishna lie at

rool of human suffering ?

(A)  Vedanta (B) Jainism
(C)  Buddhism (D) Samkhya
32. T 499 w9 ARaeaes & ?
a) e B wE
o D) WES

Who amon.g_the following is an existentialist thinker ?
(A)  Kilpatrick ' (B) Rousseau

(C) Sartre * | | (D)  Froebel
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35.

ﬁmfa@aﬁﬁaﬁq-mmﬁm%wﬁmﬁﬁmmﬁwaﬁ%?
(A) I, 7oA, Afa-Remsit snf @1 dwaqoy

_B) i st ¥ Mt wmmm

(€) Wfﬂm%ﬁqﬁﬁiﬂ? _

(D) et fiveht & Frefee ¥ wreat v wASHEOT

Which of the following functions is not related to school as an agency of

education ?
(A) Preserving knowledge, values, customs etc.
(B) Giving definite solutions to the religious problems

(C)  Suggesting ways and means to social development

i e . . N 9 . = - X y
% .
1 LS B o N 5 Yo . . a3 Ry d

(D) Socializing children for performing their future role

sq. R % WA N FA-T GRS ¥ Forehreeg 3 fagr ¥ Fepe S 2

(A) TSR (B)  SAGIER
(0 TEkER D) T ¥ FE A

Which school of Philosophy in education will plead affinity with Darwinian

theory of evaluation ?

(A) Pragmatism (B) Idealism

(C) Naturalism (D) None of these

et dfe T Fre F @ RRE SR & AR 6 - 14 T & SIotehl i [WET U
Tifereh FYFR & ? ' | _

A SR 45 B Wk
(C) =T 21(A) (D)  3FTT 51(B)

Which of the following Articles of the Constitution of India lays down that

education of children aged 6 - 14 years is a Fundamental Right ?
(A} Article 45 | (B) Article42

€  Article 21(A) (D) Article 51(B)
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36. ﬂf&Aawas%Bé;ss%%‘W%ﬂa“‘.aﬂtﬁﬁaﬁqﬁ% nx 23
A 4:5 ' B) 5:4 =
€ 3:5 B % ¥

- 1£33% of A is equal to 55% of B, then the ratio of A and Bis
(C) 3:5° (D) S5:3

57, 220 Hex vt 3 54 Freivizr/d2 W TR A As @ ¥ e @ A
ST FY TR B S 12 Feeiier 2 @) i @ 3 @ fodia faem e @ E

A) 6 9FT B) 10 UHS

(c) 8UHE D) 12 GHS

A 220 metre long train is running at a speed of 54 kilometre per hour. In wh

time will it pass a man who is moving in the opposite direction of the train af

speed of 12 kilometre per hour ?
(A) 6 sec g (B) 10 sec

(C) 8sec (D) 12 sec

38. 4-0 FI W % &Y H s fomar o Fehell €
(A) 49% (B)  490%
(C) 0:049% ™t (D) 0-49%
| 4-9 can be expressed in terlps of percentage as
(A) 4-9% | (B) 490%

(C)  0-049% | D)  049%
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1.
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104

T FAT ¥ A 270 =fFd '
. wmﬁlsomﬁﬁﬁa}éﬁmﬁio W SfETgEHE T ¥ Aty

= ® 18R

If a job is to be completed in 10 days, it requires 270 persons. If 180 persons

take up the same job, they wil] finish it in |
(A) 20 days ' (B) 18 days

(C) 15 days (D)  none of these

A 129 _ ' (B) 139

€) 132 (D) 137

The sum of all those prime numbers which are less than 31 is

(A) 129 (B) 139 - ' ’ _;_
. ° e

(C) 132 (D) 137
g% 1 S, 2013 W TEER o1, @ 2 ORI, 2014 H AR HN HHE
feTar 2 - | _ :

@ THER | (B) FEEER

(C) | TR (D) AR

If 1st Jaﬁualy, 2013 wa_é Wednesday, then what day of the week was it’on 2nd
January, 2014 ?

(A)  Wednesday (B) Thursdéy

(C)  Tuesday _ (D)  Friday
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42, BU AT,

¢, I cz}sﬁablf,ﬁpiﬁﬂafrﬁAﬁW%l“ﬁcmqD
@Ta%aiaﬂqfrmwaﬂ‘—r%? ' -

(A A (B C
© D D) E
A is older than B, but younger than C. D is younger than E but older than A

- Cis younger than D, who is the oldest of all ?

(A) A B C '

'
1
%

=3
7
4

() D (D) E

43, TTAfCEd W sepa § am e FEr 9wy 2
2 23 234 2345 23456 23456 |

B) 7

(D) T ¥ HIE el

A 2
€ 3
What should come next in the following number sequence ?

2 23 234 2345 23456 23456

() 2 B 7

() 3 - (D)  None of these
44, e fgu u fomedl § @ Hefud ¥e5 Wi AT W

FAER ¢ AR ¢ UdaR ;2

(A)  HTEER (B) WHER

(€) YFAR (D) WEER

" Find the related word from the given alternatives :

January : November : : Sunday: ?

(A) Tuesday (B) - Monday

(D) Saturday

(C)  Friday

CECTT T TR T T DR T bbbl 4 fronmn
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3 s ﬁéﬁqmmﬁ ﬁns‘ mﬁﬂwmwwaﬁ
‘ ! - }3 .L-' :
1 18, 27, 56, 115; ? A el gl & e w7 i : ‘LS
i ; _ _ . : : . : I\
(A) 234 . ) y : " (B) ) . : ":".@
i (C) 233 . | (D) 243
In the following question, select the missing number from thc glven series !
pf*‘ v 7 Y
13, 27, 56, 115, ? \‘3’”’"‘ g set A 9(;;, 3
_ | ' S WV
(A) 234 - (B) 238 -
© 233 ' (D) 243
- 46, TS HAh 12W/Wﬁﬂﬁﬁwéw%l@waﬁzooxomwgaqram
O W IH 20% T F g8, A G | 1 =T = @ 2
SA) A A B 1% wEE
(C) 1% T A (D) 8% T &N
A man sells two pipes at Rs. 12 each. He gains 20% on one and loses 20%7 on
the other. In the whole transaction there is
(A) No profit no loss ' (B) 1% loss
©) 1% profit (D) 8% profit
47.  TH YA QUITeh GEAT IR IR 1 T ANTHS 2450 & | EHCHF IO &

(A) 48 ' | B) 49
(C) 51 '. (D) 53

The sum of a positive integer and its square is 2450. The positive integer is

(A) 48 . (B) 49

9 51 .. D) -53

e, . .’M:
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[164] |

s e ) g, 00 0 a6 O Tefer Brdr e A B4 @GNS B i hIin

et ) i

(A auy S0 Al

() aay (D) 4063

Whew a number i divided by 15, 20 or 36, each time the remainder in 8, T
the smallond nnnber (s

(A) a2y (LY

() a0 (D) A03

A0 soelled fmo o gy sl el an o URE27 58 A st 1 g sk e

Bsor el wiver i) o), [ WM et aifvien g fireren &
(A) 10 elley

(1) 15 el
(©) 20 efley ) w1l O @d sl
8O litres of oo mixture containg milk and water in the ratio of 27 - . How 1

more water in (o be added to pet oo mixture containing milk and water in

ratioof 31 p
(A) 1O litres (B) 15 litres

(C) 20 litres (D) None of these
50, ud 3l A 20 Q5 @) 100 wuar o A g1 900, AT BT 36 100 W
fepert Qe @l

(A) 22

(€) 24 D) 26

L]

A man sold 20 apples [or Rs, I()(J and gained 20%. How many apples ;iid he
for Rs. 100 i

|
(A) 22 | (B) 5 : i

€ 24 (D) 26

Nivavererinnnans L LT
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51

52.

53.

54.

55.

ENGLISH
( Q. Nos. 51 - 150)
Choose the correct statement :

/(A) I saw-a strange dream last night.
(B) I got a strange dream last night.
'(c] I had a strange dream last night.
(D)  Ifaced a strange dream last night.

gt el

Which one is a wrongly spelt word ?-

(A)  Horrible - © yB) Eficient
(C) Insignificant ‘ (D) Custom.
My friend speaks ..................... French, so we were able to find a nice room in
Paris.
(A afew (B)  the few
" (C)  alittle (D) the little.
‘Pedagogy’ is the study of
(A‘) .education (B) learning process
(&) caring students _D) teaching methods.
Reading books : .
L is a habit
II. = but also enlarges the mind
III.  because it not only increases knowledge

IV. which must be cultivated by everybody

The correct sequence of the statement should be

(&) I, I, I, IV B) I 1Iv, 1, Il
(€ 1, 1v, 11, 1 ] N A " A ) Sy 4§
Which part of the following sentence has an error ? d

The customer handed over / a hundred-rupees note / to the shopkeeper
(A)  The customer handed over

(B)  a hundred-rupees note

(C)  to the shopkeeper

4D) . no error.
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57.  Iwas surprised................. .. his strange behaviour.
‘ b,
(A)  over ~(B) y
€ on (D) at. _
ibilities of error,

58.  You cannot devise a method which ..........ceeen..... all possibilitie o .

(A)  ignores (B) avoids

(C) excludes ‘ - ~(D)  includes.
99,

The nearest meaning of ‘a storm in a teacup’ is
(A)  an unexpected event

(B)  adangerous signal

I
(C) a great noise :

D)

much excitement over something trivial.

60.  The study of words ang their meanings is
(A)  semantics (B)  phonetics
() syntax (D) none of these.
61.  Find the correctly spelt word : _
(A)  Adverisity (B)  Advercity
(C) Advercety (D) Adversity.
62. ~ Which of the following is not one of the Shakespeare’s plays ?
(A)  Hamlet (B)  The Winter’s Tale
(C) Othellol ‘ AD) - Pygmalion.
63. The comparison of unlike things using the word like’ or ‘as’ is
(A) Metaphor —(B) Simﬂe
(C)  Alliteration (D)  None of these.
64.  Who is often called a romantic PO€t as most of hig pdems revolved' ar
nature ? '
(A William Shakespeare B)  William Wordsworth
©  William Langlang D)  William Blake.
65.  Choose the correct sentence :
) Letme Sing a song (B)  LetIsingaq song
(©) |

Let my sing a song

[98062 | Set.p et

None of thege,

Scanned by CamScanner


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

p

see s Eqi ;

104

Wh. h 3 ig 1 ¥ H ‘- .
66- ich figure of speech is it when a statement is exaggerated in a poem ? Y
. EER

_AA) Hyperbole (B) Irony X p
(C)  Satire ' _ (D)  None of these. :“‘

67. Which one of the following sentences is grammatically correct ? .

(A)  Would you mind work with me ?

~AB) Would you mind to work with me ?
(C) Would you mind working with me ?

(D) Would you mind worked with me ?
the train arrived.

68. No sooner had he reached the SEALION Levvrereessssinnienenss
(A) when AB) then

: /

(C) than (D) that. ?\d

aching prose is [ are

69. The general aim(s) of te _
speak, read and write English

(A) enabling students to listen,
(B) enabling students to comprehend the thought : :

(C)  enriching students’ active and passive vocabulary

_(D) all of these.

70. The story is too fantastic to be credible.

The word which best eXpresses the meaning of ‘credible’ is

(A) praiseworthy | (B) believable

(C) rcadable (D) none of these.

71.  Tdomy wWork ...ccceceveeennee: carefully to make mistakes.

(A) S0 (B) very

(C) too (D)  more.
7‘2. Grammar shouid be taught by |
(A)  giving clear explanations
' 4B)  enabling practice in context

(C) asking students to learn rules

(D) - making learners do written assignments.

---------

R il
0o am ST-14(1) : 21 /32
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73. A good paragraph writing involves : ..
(A) figurative language ‘3
(B)  correct punctuation mar ks only
(C) ideas, presentation and coherence
(D)  legible handwriting.
74.  Choose the correctly spelt word o o W 98
(A)  Aceleration (B) A_ccelal'at.lon
(C) - Aceeleration : /(DJ _Accelel:atlon-
75. A'word gets its meaning _
_(A)  in relation to its context (B)  from Spc{lmg l;
(C) fr.om its origin (D)  from dictionary:
76. The humber of sounds in English language is
(A) 24 _(B) 26
(C) 34 (D) 44
77.  His elder brother got ............co.oe- as an officer in a reputed bank.
(A) appoint | (B) appointed
(C) appoints (D)  appointing.
78. A humorous and funny poem of five lines'is
(A)  Sestina .(B)  Limerick
(C)  Haiku ' (D) Elegy.
79.  Who wrote “Gulliver’s Travels” ? '
(A)  Charles Dickens (B) T.S. Eliot
(D)  Ben Johnson.

a
|
|

80.

81.

(C)  Jonathan Swift

The car in which his friend was travelling ....

(A)  crashed (B)
4C)  met (D)
A group of three novels or plays, each complete in itself is
(A)  Triplet (B)
(C)  Trivet (D)

~ drove.

| None of these.

with an accident.’

Triology
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84.

85.

86.

87.

88.

104

We must preve .
I ent endangered wild animal species from becoming ...oeeviennens in

order that our future ge

tif. Neration may ................ the great diversity of ani'mal'
(A} rare, escape : (B)  powerful, protect
(€)  outdated, know D) extinct, ‘enjoy.
............... it stopped raining when we started our journey.’
A} Assoonas (B)  Hardly had
(&) No sooner did (D)  Nevertheless.

He is the only civil servant I know who hates red tape.

The nearest meaning of ‘red tape’ is

(A) accepting bribes (B) fofmal procedures
(& corruption | (D) dishonesty.
- The prince did not know what these omens might ................. and he asked his
soothsayers to .............i.... them.
(A) imply, illustrate (B)  portend, interpret
(C) propound, explain (D) mean, close.

Identify the statement which is not true :
(A) English is the most widely spoken language in the world.
(B) Learning English is important for pursuing highér education.
(C) English hardly finds its place at the centre of all international activities.
(D.) English bridges the gap between speakers of different mother tongues.
‘The pen is mightier than the sword’ is an example of
(A) simile (B) image
(C)  conceit (D)  metonymy.
 The proper sequence of these phrases in a sentence should be
I the needs of the audience
II.  isjudged by its theme
III.  the effectiveness of a film
IV.  andits relﬁtion to.
(A) I, 11, 1v, 1 _ (B) I, 1L, I, Iv
(C 1,1, 1v, I 4 ' (D) I, v, I, 1,
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90.

al.

_~(B)  Iasked him why wa

92.

93.
94,

95.

96.

What does the term ‘Cpistemic' sigl‘lify ? B) Scholarship
. . (
(A)  Archive dge-
Knowleds
(C) Morality AD) at aﬂinify between them
_ ; re ]
The two boys are always together: There 1° :I? ity i
. : paffinl .
The most opposite in meaning of the Wor. antipathy
: B)
(A) - sympathy # f
thes¢
(C)  empathy ) =
. . | ? . I
Which is a grammatically correct sentenc®
. hard.
(A) I asked him why he was working 7 7
: hard.

S he workiﬂg so

(&) I asked him why had he been qukmg

(D) I asked him why would h

Please, StOpP .....ccccremeene. so many mistakes:
(A)  to make (B)
(C) making (D)
He is known .............oceeeee me.
() with | (B) -
J(C€) to (D)
| 5 OO~ . I would not lose temper.
(A) 1 was you AB)
(D)

(C) [ am you
It wés an arduous task for me. '

The opposite meaning of ‘arduous’is

_(A)  difficult (B)
(C) brightl (D)
Which part of the following sentence has an
It was him / who came / running / into the

(A) It was him (B)

(D)

(C)  running:

so hard:

e working SO hard.

make

makes.

by

for.

I were-you

[ will be you.

easy
hopeful.

error ?

classroom.

who came

into the classroom.
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00.

01.

02.

03.

04.

05.

(104

" " s N ‘
Fhe phrase ‘leaven dancing' in an oxample of

(A Pathetie fallacy
(C) Pun

#(14) Hyperbole

(D)  Oxymoran,
‘Venus and Adonis’ in n long |
; L)

(A T.S. Elot

narrative poem by

(13) John Kents

(C)  Marlowe ) Willinm Shakenpeare,
'l‘hc. poct who deseribed poetry as ‘inspired mathematics’ is

(A} William Shakespeare (B)  John Milton

(C)  Ezra Pound »(D) P. B, Shelley.

The author of “T'he Hungry Tide’ is

(A) R. N. Narayan (13) Vikram Seth

(C) Shobha De AD) Amitav Ghosh,

In a language learning class, meaningful environment can be created by

(A) dramatisation (B)  story telling
(C) fun activities ,,-(D) all of these,
My mobile .osmsmmmms consns several times before I answered it,
(A) was ringing (13) has rung
(C) had rung ' (D) would ring,.
I saw &, .coue - of cows grazing in the field.
‘(A)  group o (B) herd

(C) swarin _ : (D)  flock.

Which is not a poetry form ?

(A)  Epic | (B) Ballad
[©)  Fiction (D)  Sonnet.

The sentiments expressed by him in the specch were odious.
The word which best expresses the meaning of ‘odious’ is
(A)  significant (B)  extremely unpleasant

(C)  admirable (D)  common.

CELETER LI LR R L LT T
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106, His mother ,,.,.............. when he was just @ ldels
(13) pnaned on

(A) passad over
(1) pasged for,

={G)  passed away

107, Who was the writer of the book ‘Coolie’ ?
(3) R, K. Narayan

(A) Rajn Rao
(D)

~(€)  Mulk Raj Anand K. M, Munshi.
108, A story in which ideas are symbolised a8 people i

AA)  Allegory (B)  Iable

(C) Legend

109. A person who regards the whole world ag his country, 19
(B)  Nationalist

(D)  Metropolitan,

(D) Parable.

(A) Patriot

(C) Cosmopolitan
110, Itistime you ...ooooovvvvnn. home.
—(A) go (B)  have gone
(C) went (D) are poing.
111. One who is impetuous is
(A) crralic (13) stimulating
(C)  impulsive (D) disorderly.

112, The most appropriate purpose ol learning is

(A) personal adjustment
(B) modification ol behaviour
AC) social and political awareness

(D) preparing oneself for employment.

The term ‘invective’ in language refers to

113.
(A) insulting, abusive or highly critical language
(B) straightforward language
(C) chanting ol words having magical power
(D) " using grammatically correct language.
114. When Dr. Maria says “your father is no more” instead of “your father died”, she

is using
(B) schema ' 3

(A) reflection

(D) " direct statement.
26 /32

_,(-C) euphemism

(08062 ] Set-F _
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115, rich o ;
E l (A) lt:(:ll':::o:'{:ll::’i:::- i‘:""'“llputm“ i incorrect in langunge teaching ?
.‘-. @) Ky auire language by trying Lo use it In real situntions
-carnar’s frat langunge plays an importnot role in lenrning
(C) Language teaching should have n focus in communicative aclivitics
anguagc

D Wri X
( ) riting rather than speech should be given importance in 1

teaching,

116. The term ‘lexis’ refers to
rticular

W EVE all word forms having meaning and grammatical functions inapa

language

(B) the study of selected word forms

(@] origin of words
: ]

(D)  borrowing of words in English language.
117. When a writer attempts to describe something so that it appeals to our sense of \

smell, sight, taste, touch or hearing ; she/he uses
(B) picture clement

~ (A) ima gery
(C) direct style (D)  sensualism,
118. He looked very happy and ...... e when he heard that his proposed scheme
WAS .ceeniieriiarinnes by the committee.
(A) energetic, rejected (B) overwhelming, received
(D)  none of these.

(C)  clated, accepted
se sentences in a paragraph should be

119. The proper sequence of the
She decided 1o go to school and meet the Principal

I
II. Suddenly she realised that she had no moncy with her
I1I. By the time she reached there, he had left the office
IV. Therefore, she decided to go to the office of her husband and get
the money
V. Seema wanted her son to get admission in a reputed school..
(A) I, 11, 1, 1Iv, V (B) I, I, II, IV, V i
(D) Vv, LI, IV, 1L

© v, I, I, I, IV T
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| . .al actions, 18
120. An entertainer who performs difficult P.I"YSIC{’ll : ‘

LA | | B

Magician
(D)

Acrobat

. Clown.
(C) Gymnast

121. The dog has been ................. py a car. -

AN runover
(C) runfor (p) runinto-
122. She Was ..., better of the two.
(A)  more (B) the
,{Ci a (D)  none of these.
123. Select the most appropriate synonym of ‘applaud’
(A) .request (B) pray
(C)  flatter _(D)  praise.

124, “The way of living” can be replaced with the word

(A)  livelihood (B) liveliness

(C) lifelike (D) life style.

125. “Students need to brainstorm ideas, organize them, draft, edit and revise their

work.”

It is a process which reflects

(A)  Reading skill ' ) (B) Writing skill
(C)  Listening skill (D) Speaking skill.
126. ‘Interactive’ listening is
(A} Listening and responding (B)  Listening for comprehension
(C) Listening for word meaning (D) None of these.

127. The nearest meaning of ‘conceal’ is

i

(A)  avoid . , (B)  keep
(C)  hide (D) steal. q
128. Which is the réceptivc skill of language ?
B (A) Listening and Speaking (B) Reading-a_nd writing
. (C) Speaking aﬁd writing = _D) ' Listening and rea ding,
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29.

30.

31.

32.

134.

e R s @ SRS e st Y

‘Skimming’ is a sub-skill of
(A)  Listening (B) Speaking
(€)  Reading : (D)  Writing.
e learning takes place when the learners are
(A)  passive '
.(B) - interactive
(€} good at preparing for the examination
(D) quiet. |
When he
L. did not know
2 he was nervous and
[Il. © heard the hue and cry at midnight
V. what to do .
The proper sequence should be
- (A) I, 101, 11, IV _ (B ILLILIV
(©)  ILILLIV (D) IV, 1, I, 1.
. Discipline is on the wane in schools and colleges these days.
The substitute of ‘on the wane’ is
(A) declining (B) * increasing
(C) flourishing (D) spreading.
One who hates knowledge and learning is called a |
(A) misologist (B) philologist
(C) misogynist (D)  philogynist.
" “The Merchant of Venice’ written by Shakespeare isa
(A) novel (B) short story
(C) poem. (D)  drama.
A sad song is
A} dirge B)  ditty

) hymn (D) anthem.

o WA NN
b veanydal

fECT

BLitp e bk
"‘75‘5;‘; Vi e R
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A) fatalist
A _ . (D) theist
a specific method, #aenl haa teachﬁt; i

136, One who believes in the power of fate is
/ .

"

(C)  pessimist ;
13'7- If a student is unable to learn a tasl«'r by
you should o :
(A) tell the student that the task is not very important
(B)  ignore the student and move to the ngxt topic
(@] | promote rote Iea.fning
wAD) give some exira time to help him learn the tasfk'
138. The custom of having many wives is
(A) Misogamy (B) Monoga@Y
(C) Bigamy ' (D) Polygamy-
i 139. Who wrote the book “Wings of Fire” ?
4 o (A)  Mulk Raj Anand (8) Mahatma Gandhi
(©)  APJ.Abdul Kalam (D) Jawaharlal Nehru.
140. I am sure they will fight tooth and nai.t for their rights.
The acceptable meaning of ‘tooth and nail’ is
(A)  with all their might (B)  without any reason
(C)  very cowardly (D)  fearfully.
141. - Who believed that poetry is the spontaneous overflow of emotions ?

(A) William Wordsworth (B)  John Milton

(C) William Blake (D) John Dryden.

142. The word opposite in meaning to the word ‘demblish’ is

(A) . shift (B)  build
(C)  repeat (D) hide.
143. Hetalksasifhe ................... lunatic.
A). s | (B) are
(C) was (D) . were
ST14(I) ..............................

- [ 98062 ] Set-F
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144, Language acquisition occurs only when -

(A) the rules of gfamgnéﬁr are taught = | g
(B) the learner is given an sward
'r(C) ‘1_110 learner gets exposure to the languag;:' '

(D)

Ay, B

the language_i_s, taught in the classroom.

45. Who- lost paradise in Milton’s ‘Paradise Lost’ ?

() ° Adam . (B) Eve . %‘1
() Both (A) and (B) (D)  Satan. | J"f
0
46. Choose the correct word order : w\

(A)  Why she did get up sd.early ?

'?eb

.(B) ~ Why did she get up so early ?

(C) Why did get up she so early ?

Ay

(D) Why get up did she so early ? | L

47. Who is known as the father of English poetry ?

(A) John Milton (B) William Wofdswbi‘th
(C) Geoffrey Chaucer (D) William Shakespeare.
48. The teacher is popu’lafr .................... his pupils.
(A) among . - (B) to
(C) with | (D) for.
49. A sonnctis
(A) a poem of eight lines | (B) apoem of ten lines
(C) a poem of twelve lines (D)  apoem of fourteen lines.

150. Applying human qualities to non-human things is
(A) Personification - (B) Alliteration

et

(C) Onomatopoeia (D)  Oxymoron.
. » . » : s Pk
gk L5 P o ey \r‘)sq‘-ﬁ
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